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1. fRferfio afasferg ast fAdfy S (8a + 3b)°

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d70t6NTFPEOd

2. fArferfie qifig asf Rda s@is (z + 2)°

o Watch Video Solution
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3. [ARfefie qifxig 35t Aoy BErs (9:1: + E)

° Watch Video Solution

4. fRaferiie aifktg asf fAdfy swrs (22 + 1)°

° Watch Video Solution



https://dl.doubtnut.com/l/_sgozHS9Hc8M3
https://dl.doubtnut.com/l/_aKVNu8l9WYds
https://dl.doubtnut.com/l/_ThQbospQm8nL
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5. frferfare qifig 9sf fadfa S (a n %)

o Watch Video Solution

6. PUTY (cTT: 42528421

o Watch Video Solution

7. DA (¢TT : 21536486

o Watch Video Solution



https://dl.doubtnut.com/l/_YB5SCR1wiL8c
https://dl.doubtnut.com/l/_qbQS3a2LhU9y
https://dl.doubtnut.com/l/_2yJiQHcPY6rI
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8. faxferfae qifxg qsf fAdfy Farg (% _ ﬁ)
a

° Watch Video Solution

9. fAxfafie difiafag If fAdy  Fwis
3T oY
=y

o Watch Video Solution

10. fAagfafllc qifasfag If fRdg @i

(z°y — y=°)


https://dl.doubtnut.com/l/_TTpmOZ8TUe31
https://dl.doubtnut.com/l/_IrlkGVUpDhpv
https://dl.doubtnut.com/l/_vrLuc6rrTfir

° Watch Video Solution

1. fAnfafde qfasfag It Ry s
2x 3y
(W%)

o Watch Video Solution

12. fAgfafie qfsfag st [ d@

(:132 — ay) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vrLuc6rrTfir
https://dl.doubtnut.com/l/_Vh7pc4fEY4mX
https://dl.doubtnut.com/l/_MKkgIvhsODbG
https://dl.doubtnut.com/l/_TYkujQApulMv

13. YT (eTT : 50215819

o Watch Video Solution

14. fAgfafds qfasfag It Ry s

9 2
Y
@*7)

o Watch Video Solution

15. fAgfafie qfasfag st Aoy s

o)


https://dl.doubtnut.com/l/_TYkujQApulMv
https://dl.doubtnut.com/l/_ziEL7bVGirxn
https://dl.doubtnut.com/l/_1xDDQphSor41

° Watch Video Solution

16. B9 AT BEIS (2a + b)(2a + b)

° Watch Video Solution

17. 395 AT @IS (z + 2y) (= — 2y)

° Watch Video Solution

18. BIH (AT Pl (a,2 + bc) (a2 — bc)


https://dl.doubtnut.com/l/_1xDDQphSor41
https://dl.doubtnut.com/l/_iNexMCvVBWdL
https://dl.doubtnut.com/l/_hTJQbSbMegLa
https://dl.doubtnut.com/l/_RvnepU7fVOEj

° Watch Video Solution

19. B IHA fadfy IEIM3
4a B 3b 4a n 3b
5 4 J\5 ' 4

o Watch Video Solution
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20. 39t fAfT Bt (293 + 5) (2:1; — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_RvnepU7fVOEj
https://dl.doubtnut.com/l/_hvaYVNGbdt13
https://dl.doubtnut.com/l/_CE81rHVtpnqb

21. 89t AT Bt (227 + 3°) (22° — o)

o Watch Video Solution
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22. BB AT PEM3 (a4 + _2) (a4 _ _)

a

° Watch Video Solution
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23. BIB (AT EM8 (a,3 + _) (a3 _ _)

as as

o Watch Video Solution



https://dl.doubtnut.com/l/_54pkt7RqVCxu
https://dl.doubtnut.com/l/_b4ZoHKZcISWD
https://dl.doubtnut.com/l/_IMidfYU5pEZj

24, 395 AT dWI8 (62° — Ty°) (62° — Ty?)

o Watch Video Solution

s (5 4) (5 - 4

o Watch Video Solution

26. (ad MRy ARG Seunisfag asf [y

IEM3 (703)°

o Watch Video Solution



https://dl.doubtnut.com/l/_8tUjowQ1r72m
https://dl.doubtnut.com/l/_3UgWPt7MH1ce
https://dl.doubtnut.com/l/_G93lOu6A6qm9

27. Stad ey ARferlle seuntsferg asf fady

@IS (1001)°

o Watch Video Solution

28. 3[(ad SRIT fARfeTfI® SYTa Isf AT Hrars

(999)

o Watch Video Solution



https://dl.doubtnut.com/l/_G93lOu6A6qm9
https://dl.doubtnut.com/l/_pc3EOMyLrmUn
https://dl.doubtnut.com/l/_WK6kIjbC9ua7

29. (ad MRy ARG Seunisfag asf [y

IEQM3 (102)°

o Watch Video Solution

30. J(ad 2y [AFfeafde e 35t fAdfy s

(99)°

o Watch Video Solution



https://dl.doubtnut.com/l/_5vuSTEpC6BGd
https://dl.doubtnut.com/l/_QANyCVc6kwWU

31. 541 SEI [a® — b° = (a + b)(a — b)] Yad

STIRITTS (79)° — (69)°

o Watch Video Solution

32,51 @I [a® — b = (a + b)(a — b)] J@d

STIRITRTS (467)° — (33)°

o Watch Video Solution



https://dl.doubtnut.com/l/_HgnaaWSmhGdi
https://dl.doubtnut.com/l/_HB40fwg8cWbd

33.579e1 W [a® — b* = (a + b)(a — b)] Yad

STIRITTS (82)° — (18)°

o Watch Video Solution

34,57 @Il [a® — b = (a + b)(a — b)] J@d

JTRITATS 197 x 203

o Watch Video Solution



https://dl.doubtnut.com/l/_WG4OzFdfx6d6
https://dl.doubtnut.com/l/_egqReMOZBeOi

35.579¢1 W [a® — b* = (a + b)(a — b)] Yad

AIRITT8 113 x 87

o Watch Video Solution

36. 591 Sl [a” — b = (a + b)(a — b)] J@d

ATRITATS 95 x 105

o Watch Video Solution



https://dl.doubtnut.com/l/_qRRpoFZPhwaG
https://dl.doubtnut.com/l/_Cd2zrorimv35

37. 5731 W [a® — b* = (a + b)(a — b)] Yad

MIRITYTS 1.8 x 2.2

o Watch Video Solution

38,571 Sl [a® — b = (a + b)(a — b)] J@d

HRITATS 9.8 x 10.2

o Watch Video Solution
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39.a + — =202 a*“+ — =7
a a,2

f ) |


https://dl.doubtnut.com/l/_15s64l0lPdL5
https://dl.doubtnut.com/l/_bqLky8Scokxv
https://dl.doubtnut.com/l/_BIG2qUE2zhDF

o Watch Video Solution

1 5 1
40.0 — — = 32@@a* + — = ?
a a,2

o Watch Video Solution
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41.a2—|——2:18Q(Fia—|——£lE|'Qa,—— = ?
a a a

o Watch Video Solution

42. a+b=4 QR ab=23A a® + b* = ?



https://dl.doubtnut.com/l/_BIG2qUE2zhDF
https://dl.doubtnut.com/l/_1sXLFjNXknZ0
https://dl.doubtnut.com/l/_ys1g3zmJxEvW
https://dl.doubtnut.com/l/_Nx4RyX7i0ZbA

o Watch Video Solution

43. a-b=7 Q32 ab=9 3 a® + b% = ?

o Watch Video Solution

44.3a3+5b=11 932 ab=2 30 9a> + 25b%> = ?

o Watch Video Solution

45. 5 T @l : 1602 + 24a + 9 TT a — %

f ) |


https://dl.doubtnut.com/l/_Nx4RyX7i0ZbA
https://dl.doubtnut.com/l/_ouzIteDbCwqe
https://dl.doubtnut.com/l/_q0x8Zu3E45Dq
https://dl.doubtnut.com/l/_9lVJ6Qw8dptQ

o Watch Video Solution

46. A AT B@r : 81a® + 1662 — 72ab TUA

Y
a—§ N —Z

° Watch Video Solution

47. Ti7 AT S@r : 64a® + 81b% + 144ab TR

a=11 aq®R b = é
3

o Watch Video Solution



https://dl.doubtnut.com/l/_9lVJ6Qw8dptQ
https://dl.doubtnut.com/l/_Hq6KMmz6p0BU
https://dl.doubtnut.com/l/_0UVJcVboIvGH
https://dl.doubtnut.com/l/_50mJslVCqd1s
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48.0 + — = 92la” + — = ?
a a,4

o Watch Video Solution
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49.y + — :125@{(3/——) = 7
Y Y

° Watch Video Solution

50. 2a+3b=14 43R 2a-3b=2 2T ab=?

° Watch Video Solution



https://dl.doubtnut.com/l/_50mJslVCqd1s
https://dl.doubtnut.com/l/_ssHXZnCFitlE
https://dl.doubtnut.com/l/_HZExSYpOd8Jr
https://dl.doubtnut.com/l/_FY6bOjdKY6ge

51. fAfeTfie g 35t AT @I : 22 + 3y + 2

° Watch Video Solution

52. fAgferfie A It Afg @ p+ g — 7

° Watch Video Solution

53, fAFfeifd® Qg Isf fRfg @t p — g — r

° Watch Video Solution



https://dl.doubtnut.com/l/_FY6bOjdKY6ge
https://dl.doubtnut.com/l/_Nkf2u9gBVsJT
https://dl.doubtnut.com/l/_GEq5vxNJU6i7
https://dl.doubtnut.com/l/_97FTr7W52AYw

54, fAgfafle fg If fadg st

a+b+c+d

o Watch Video Solution

55. fAnfafdw qifg Isf fAdy  F@r

a—b—c+d

° Watch Video Solution



https://dl.doubtnut.com/l/_97FTr7W52AYw
https://dl.doubtnut.com/l/_yP6eTQ7Mqvtg

56. fAxfafle gqfdg sf Ay

p+q—1r—3S

Gl

o Watch Video Solution

57. fagfafle Qg Isf  fAdy

2¢ + 3y — 4z — 2r

o Watch Video Solution



https://dl.doubtnut.com/l/_tvqKgy7uEm8k
https://dl.doubtnut.com/l/_jkVz2HqKeZ5K

58, fAgfafde difag It fAdy @t

—a+b—c+d

o Watch Video Solution

50, fAxfafiile difg If Rdy Tt

3r + 4y — 3z — 4p

o Watch Video Solution



https://dl.doubtnut.com/l/_LkcUZY402uyH
https://dl.doubtnut.com/l/_sRqhDNfjgxH4

60. fAxRfafic Jfsfag It AdT Iwr

2p + 2q — 2r — 2s

o Watch Video Solution

61. et Gl

(a —b)(a + b)(a® + ) (a* + b*)

o Watch Video Solution



https://dl.doubtnut.com/l/_AriTPFbyyT3R
https://dl.doubtnut.com/l/_aVqZa07QLYVn

62. e dl

(2a — 1)(2a + 1) (4a® + 1) (16a* + 1)

o Watch Video Solution

63. Je] Pl : ('m,2 — n2m)2 + 2m3n?

o Watch Video Solution

(2.5z — 1.5y)> — (1.5z — 2.5y)*



https://dl.doubtnut.com/l/_UoYknhPWejfc
https://dl.doubtnut.com/l/_IDfN1gr9b7rl
https://dl.doubtnut.com/l/_qg5ZqvpUmuT9

o Watch Video Solution ‘
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65. 3T DI : 2p+ — =5 AT (p—|——>
p

aep2+i=?
4p?

° Watch Video Solution

66.a+b=0 932 ab=-253(A a® + %> = ?

° Watch Video Solution



https://dl.doubtnut.com/l/_qg5ZqvpUmuT9
https://dl.doubtnut.com/l/_884iZUDzviwc
https://dl.doubtnut.com/l/_M1H11XMQpElB
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67.6|lx — — )| =52Aqx"+ — =7
xZ m2

° Watch Video Solution

68

T 3
" 5

o Watch Video Solution

69. ab=40 432 a2 + b% + ab = 156 (T a-b=?

o Watch Video Solution



https://dl.doubtnut.com/l/_qMtYGUYc475N
https://dl.doubtnut.com/l/_22pq5uakbh1y
https://dl.doubtnut.com/l/_fo39ZjEiuoJu

70. 4a%b? + 25¢2d? = 51 (A a2 2ab-5cd=7

(T abcd=?

o Watch Video Solution

1\2 1
71.(33——) =a? — 4+ — = ?
T T

o Watch Video Solution

72.X+y=5 932 xy=6 A > — y* = ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BpFdgFwXQkT3
https://dl.doubtnut.com/l/_l20oisC96msZ
https://dl.doubtnut.com/l/_luSr2DH4IXw1

73.4a% — 12ab + 9b> = 030 a 932 b -7 LT

TG HI?

o Watch Video Solution

74. 2p| G|

(a +ab+b2)(a —ab+b2)(a —a2b2+b4)

o Watch Video Solution



https://dl.doubtnut.com/l/_luSr2DH4IXw1
https://dl.doubtnut.com/l/_y853ZHxFok9P
https://dl.doubtnut.com/l/_5Wm1lFWMtbJV

75.899W: (z —y+z+d) (e +y— 2+ d)

o Watch Video Solution

76. 28T I

(a+b+c)(b+c—a)(c+a—-b)(a+b—c)

o Watch Video Solution

77. 99A BQt : (a + b)® — (a — b)° = 4ab

o Watch Video Solution



https://dl.doubtnut.com/l/_Hx2TQNCYRb3Z
https://dl.doubtnut.com/l/_2qDbYaxWEtrr
https://dl.doubtnut.com/l/_iL44r3WIQnHN

78.8zy(z” + y°) = 624 932 x+y=5 AT x-y=?

o Watch Video Solution

79.a% + b2 = 2ab (T %=?

o Watch Video Solution

80. (3z — 2y)(5x — 6y) (@ WG I CIIIAE

B ST |



https://dl.doubtnut.com/l/_iL44r3WIQnHN
https://dl.doubtnut.com/l/_KXzd4VfRZhhS
https://dl.doubtnut.com/l/_6iem9hW33HKD
https://dl.doubtnut.com/l/_UTP30W8bHKDd

o Watch Video Solution

81. (a® + %) (¢ + d?) - @ yft Juela TafEwe

BT BT |

o Watch Video Solution

82. 1- @ b gefast (qtswiififod ) eraamet

B ST |

o Watch Video Solution



https://dl.doubtnut.com/l/_UTP30W8bHKDd
https://dl.doubtnut.com/l/_AhZx2RyQ2Ila
https://dl.doubtnut.com/l/_yW6oN3qmBIcH
https://dl.doubtnut.com/l/_KHB8NrhXRJOF
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8.0 + 1+ — - @ 935t Ao g FRM |

4a?

o Watch Video Solution

84.a — b = 2 93 ab=15 2T (a+b)=?

A 12

B.£7

C. =8

D.8

Answer:


https://dl.doubtnut.com/l/_KHB8NrhXRJOF
https://dl.doubtnut.com/l/_l0EOemujrnmc

° Watch Video Solution

85.0.64 x 0.64 + 0.36 x 0.36 + 0.72 x 0.64=?

A.1.28

B.1

C. 21

D.1.24

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_l0EOemujrnmc
https://dl.doubtnut.com/l/_VPxC3czXp5Ha

l—=x
86. (1—2)(1+ x) =

A1+ 2

B.z2 — 1

Cx?+1

D. @ﬂﬁTlBQFTZf

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VPxC3czXp5Ha
https://dl.doubtnut.com/l/_5K82vr3vCbyn
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87. (3n — *)2=9n2—2—l——5@f * =7
In?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EtCnc8ieJezw

88. 2 + 2mz + n JIIf A m 8 n-a7 JT

TG 1P ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iWSrGoNQ43T9
https://dl.doubtnut.com/l/_0u89GnqnuauZ

89. P a3 TH F© A 922 + pz + 16 G
it 2 ?

A +18

B. +16

C.+24

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0u89GnqnuauZ

1

1 aBIo gefast

90.t —ad FI7 PO oA z° — tx +
Jifxr atq ?

A +2

B.+4

C.+1

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WaHbJ7tDL6ic
https://dl.doubtnut.com/l/_ZS2hQwUD95vE

91. x2-+—y2-+-z2-+—2an;%—2yz-+—2zm = 0 20

X+y+z=?

A.O

C.1

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZS2hQwUD95vE

92. a’ — ab 4+ b? (U@ Fo At Faer aHB
gefast qif<t 2@ ?

A. ab

B.-3ab

C.ab di-3ab

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dnzMSmIxBhbu
https://dl.doubtnut.com/l/_AThZgyaF5QZz

93.a’ + ab + b - 99 A PO [ ISt AT aB6
gyefst it 2q ?

A.-ab

B. 3ab

C.-abdl 3ab

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AThZgyaF5QZz

